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Welcome, I welcome you all to this lecture in the course 'Introduction to Paninian grammar'. So
far we have been studying the features of the meta-language of Panini which are extremely
fundamental and helpful to understand both the text of Paninian grammar and thereby the system
of Paninian grammar. We have studied 3 additional features of the meta language of Panini.

The first one was the meaning of the word, the second one was the meaning of the cases and the
third one was the technique of pratyahara. While dealing with the technique of pratyahara we were
introduced to the concept of 'it' or a marker. We said that this concept is very crucial, very basic,
very fundamental to the meta-language of Panini and shows the genius on the part of the
grammarian Panini who cleverly utilized this marker system as a device to describe various kinds
of linguistic phenomena through different kinds of grammatical operation.

So, we studied in detail the stitras defining 'it'. We saw that 1.3.2 defines vowels which are termed
'it', then from 1.3.3 onwards the consonants are termed 'it'. So, 1.3.3 and 1.3.4 together describe
those consonants which come at the final position in the initial enunciation which are termed 'it'".
Then we looked at the next stiras 'adirnitudavah’ and 'sah pratyayasya' which talk about consonant
's' and the cluster 'fii', 'tu’ and 'du’ which appear at the beginning, at the initial position.

So 'fii’, 'tu" and 'du’, they appear at the beginning of verbal roots and the entire cluster is termed 'it'.
We also saw an exception where a particular cluster is not explicitly stated by Panini as 'it’;
however, he assumes it to be 'it' and uses it in one of his siitra 'irito va'. Now we have to proceed
further and look at the next siitras which assign the term 'it' to certain other consonants coming at
the initial position of the pratyayas, that is what we plan to do in this lecture.

So, the overall theme is markers in the meta-language of Paninian grammar. And we are looking
at consonant markers. And these are the stitras which assign the term 'it' to consonants and we have
seen 'halantyam' and 'ma vibhaktau tusmah' before, these two siitras assign the term 'it' to
consonants coming at the final position of the element stated in the 'upadesa’ initial enunciation.
Then we looked at these two siitras which assigned the term 'it' to the consonants and this sitras
gives the term 'it' to the cluster which appears in the initial position.



This thread continues and let us look at the next two siitras which assign the technical term 'it' to
certain kinds of consonants at the initial position. So, the questions we asked earlier are these. The
technical term 'it' is stated to which other consonants, at other positions apart from the final
position? Is it stated for the consonants which appear at the beginning of the elements? Is it also
stated to vowel plus consonant or consonant plus vowel clusters? And we have already provided
the answers and we will provide more answers in today's lecture to these questions.

So, let us look at the sttra 'cutd' first, 'cutdi'. This is a remarkable siitra having only one word in it
and we know how to complete the meaning of a particular sttra with the help of the words
continued from the previous siitras, we have seen this before

Now in this sttra this is a unique position as we saw said earlier, because there is only one word
‘cutii’ which is in the 1st case, 1 slash 2 of 'cutdi', short 'u', 'cutdi'. 'Cutii' is made up of two
components 'cu’ and 'td'. 'Cu' stands for consonants in the second row that is consonants of 'c’ class,
namely 'c ch j jh A" and 'tu’ stands for consonants in the third row that is consonants of 't' class
namely 't th d dh n' that is the meaning of 'cutt'. And this is one 'td' of 'cutd'.

The words continued in this siitra are 'upadese' 7 slash 1, 'it' 1 slash 1, 'adih’ 1 slash 1 and
'pratyayasya' 6 slash 1, put together all these words, put together the meaning of the siitra can be
written in the following manner 'upadese pratyayasya adi cutd itau stah’. What this means is in the
initial enunciation, the 'c' class and the 't' class consonants occurring at the beginning of a pratyaya
are termed 'it'. | repeat in the initial enunciation the 'c' class and 't' class consonants occurring at
the beginning of a pratyaya are termed 'it'.
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And then they are deleted by 1.3.9 'tasya lopah' and then the respective pratyaya is called ‘cit'
having 'c' as 'it' or 'tit' having 't' as 'it', this 'cit' and 'tit' then triggers certain grammatical operations.
So, let us take an example, here we are forming the nominative plural, 1 slash 3 of the word ending
in 'a' namely 'Rama’.

So, we add 'jas’ suffix to it by 4.1.2. Now in this 'jas’, this 'j' which appears at the beginning of a
pratyaya, this becomes 'it' by 1.3.7 'cutil', because 'j' as a consonant is part of this 'c' class, 'c' row
and therefore, this is termed 'it' and then by application of 1.3.9 this 'j' is deleted.

So, what we have is a 's' coming at the end of the pratyaya can get the term 'it" applying 1.3.3, but
there is a negation we have studied 1.3.4, which prohibits this and it says that 's' coming at the end
of a vibhakti pratyaya should not be termed 'it' and that is why this is not termed as 'it". So, ‘as'



remains as it is, then we join it together we get the form 'Ramas', then by application of 8.2.66 and
8.3.15, 's' gets substituted by visarga, these two dots and we get the final form 'Ramah’.

The question is what is the purpose of 'j' becoming ‘it' and here the function of 'jJ' is to distinguish
the 1 slash 3 suffix from the 2 slash 3 suffix which is stated as 'Sas', that is the only difference.
Both of them after removing the the marker have this form which is common ‘as’. Now, how do
you distinguish between ‘as' in the position of 1 slash 3 and 'as' in the position of 2 slash 3. So, J'
serves this function. So, both of them are stated as 'as' and are distinguished by the respective
markers 'J' and '§".

Let us take one more example. Now we are looking at a consonant in the 't' class getting the
'itsarhjfia’ or the term 'it', the earlier example showed the term 'it' assigned to a consonant which
appears in the 'c' class. Now, we will study one example in which the term 'it' is assigned to a
consonant that appears in the 't' class.

So, here is an example, suffix 'tac' stated by 5.4.91, 'rajahassakhibhystac', the suffix is 'tac’. So, in
this case 't' becomes 'it' by 1.3.7, because the suffix is 'tac' and 't' appears at the initial position of
this suffix. So, 't' becomes 'it' by 1.3.7 and then it gets deleted by 1.3.9. And similarly, the final 'c’
also becomes 'it' by 1.3.3. Remember this 'c' does not get the term 'it' because of ‘cuti’', because
this is in the final position. 'Cuti' assigns the technical term 'it' to only that 'c' which appears in the
beginning that is not the case here.

So, 'c¢' will not get the term 'it' by this sttra, it will get the term 'it' by 1.3.3 and then it will also be
deleted by 1.3.9. So, let us, let us look at the example, the derivation process of a compound in
which this suffix 'tac’ is added. So, we begin with 'mahan Raja' which is part of a sentence, it is not
yet compound, but then we write the same in the technical terms indicating that the process of
compounding has begun. And so, we write 'mahat su, Rajan su' in brackets and we add the suffix
'tac’ and we add another bracket at the end of 'tac' to indicate that that whole unit is one unit one
compound.

Then as an internal processing we delete both the 'sus' over here. And so, we get 'mahat’, 'Rajan’
and 'tac’. Then we apply 1.3.7 to term 't as 'it' and 1.3.3 to assign the term 'it' to 'c' and then we
delete both of them by 1.3.9 and so we get 'a'. So, now, we had 'mahat' plus 'Rajan' plus 'a'. Then
we apply 6.3.46 and substitute this 't' by 'a' and we get 'maha’, 'rajan' and 'a'. Then by application
of 6.4.144 we delete this 'an' and then we get 'maha’, 'raj' and 'a' and we join these together and we
get the word 'maharaja’. This is a compound, 'maharaja’, the great king.



Now, the suffix ‘tac’ is used here and 't' of it at the beginning is marked as, is assigned the term 'it'
So, now, after the derivation of the word 'maharaja’, when we have to add a feminine suffix to this
a word, the marker 't' namely the 'tit' triggers the operation 4.1.15 'stitra’ and that sttra prescribes
the suffix 'nip' in the sense of feminine which is later on discovered to be T long after the term 'it'
is assigned to 'n' and 'p' respectively. So, we have 'maharaja’ plus 'nip' because of 'tit" and then
'maharaja’ plus T and then 'maharaj' plus T and maharaji, wife of the great king. So, because the
word 'maharaja’ is derived with the suffix termed as 'tit' 4.1.15 gets triggered and acts the feminine

suffix 'nip'. And so we get the word 'maharajt'.

So, this is the explanation of 'cuti', we have seen two examples where one consonant from 'c’ class
and one consonant from 't' class occurring at the initial position of a suffix are termed 'it' and they
are then deleted and then they trigger certain operations, be it distinction between the suffixes or
adding the feminine suffixes that is how the 'it' sounds function.

Now, let us look at the last siitra in this section, small section of 'it' from 1.3.2 to 1.3.8, the
consonant section is 1.3.3 to 1.3.8 and this sutra is 'laskvataddhite', 'laskvataddhite' and here there
are two words in the siitra, 'lasaku' 1 slash 1 and 'ataddhite' 7 slash 1, 'lasaku' is 1 slash 1 of 'lasaku’.
So, what is 'lasaku', 'lasaku' is 'la' that is 'I' consonant and 'Sa' that is consonant 's' and 'ku' that is
consonants in the first row of 'ka’ class which are 'k - kh - g - gh - n', these are all 'lasaku' and then
we have 'ataddhite' 7 slash 1.

Here 7th case means the same thing as in the object language, 'in". So, in a suffix different than the
'‘taddhita’ suffix that is the meaning of ‘ataddhite’. The words continued in this are 'upadese', 'it',
'adih’ and 'pratyayasya’, when we put all these words together along with the two words available
to us from the siitra, we get the following meaning 'taddhitavarjapratyayadyalasakavargah itah
syuh’ which means the sounds 'l', '$' and 'ku' consonants in the first row of 'k’ class namely, 'k - kh
- g -gh'and 'n" at the beginning of a suffix other than a ‘taddhita’ is termed 'it' and are further
deleted by 1.3.9. And then the respective ‘pratyaya’ is called 'lit', one which has 'I' as 'it, '$it, one
which has '§' as 'it' and 'kit', 'khit' and "nit' etcetera, these sounds are used to describe the linguistic
phenomena by triggering certain grammatical operations.

The next question is what is a ‘taddhita’ suffix when you say ‘ataddhite' and interpret it as other
than 'taddhita’ suffix, what is the 'taddhita’ suffix? So, a ‘taddhita’ suffix is a suffix which is stated
from 4.1.76 up to 5.4.160. So, all the suffixes stated in this particular part of the Astadhyayi that
is 4.1.76 onwards up to 5.4.160, all of them they are termed 'taddhita’. This is stated by 4.1.76
'taddhitah' and we will look at this more when we look at the types of siitras namely the 'adhikara’
sitra. These 'taddhita' suffixes are mainly added to nominal roots and generally they form
adjectives, generally!



Let us take the examples now of 'laakvataddhite'. So, here we are 'gam' plus 'lyut’. 'Lyut’ is stated

by 3.3.117 and then we apply the 'itsarhjna’ to 'I' over here and 'l' is appearing at the initial position
of the pratyaya and therefore 1.3.8 applies and 'l' becomes "it'.

Similarly, we apply 1.3.3 and 't" is assigned the term 'it" and now we delete both of them, what
remains is 'yu', then 'yu' is substituted by 'an' by 7.1.1 and we join these together and we get the
word 'gamana’. So, '‘gamana’ is derived from the verbal root 'gam' by the addition of the suffix
‘lyut’. So, 'lyut’ is not a 'taddhita’ suffix, the point to remember is that 'lyut’ is not a 'taddhita’ suffix.
It is a suffix, but not a 'taddhita’ suffix at the beginning of which appears 'l' and therefore, this siitra
applies here and 'I' becomes 'it'. And so, this suffix is called 'lit', 'lit' and this 'lit' triggers the accent
operation 6.1.193, we shall study this in a while.

But let us look at one more counter example. So, here is the word 'ctida’ the hair, in a particular
shape, 'cida' which is getting a suffix 'lac' added to it by 5.2.96. So, we have here 'cuida' plus 'la'
and this 'c' becomes 'it' because of 1.3.3 and is deleted because of 1.3.9. What to do with this 'I'?
Shall we mark this 'l" as 'it' by application of 1.3.8? So, you have to check whether this suffix is a
'taddhit' suffix or not and if you look at the number of the stitra 5.2.96, this exactly falls in the
domain of 'taddhita’ suffix as per its definition stated earlier.

Any suffix stated in between 4.1.76 onwards up to 5.4.163 is called 'taddhita’ and this is in that
domain that is why this is called ‘taddhita’ suffix and therefore, now 1.3.8 will not apply over here
and. So, 'I' will not be termed 'it". It will remain as it is that is why that is how the word is also seen
in the object language language 'ctidala' that is one who possesses 'clida’. So, in this case 'lac' is a
taddhita suffix and hence 1.3.8 does not apply, that is the point.

So, here is one more example of '§' now, derivation of the form 'pathati'. Here you have the root
‘path’ to which we add the suffix 'ti' by 3.4.78 and then another suffix come in between, comes in
between namely 'Sap' by 3.1.68. Now, in this 'Sap’, 's' which comes at the initial position is termed
'it' because of this sttra and 'p' is termed 'it' by 1.3.3 and they both are deleted and you get the
suffix 'a’ over here, so you have 'path’ plus 'a’ plus 'ti' and you join everything together and you get
the form 'pathati'. Now, here the point to be noted is '$ap' is not a 'taddhita' suffix and therefore,
this 1.3.8 applies over here and this '$ap' is then called 'Sit' which triggers the operation 7.3.84 in
case of 'bhavati' and so on.

Let us look at the other example where we add the suffix 'Sas' to the word 'bahu’, by the siitra 5.4.42
and we get then the word 'bahusah' manyfold 'bahusah'. Now, this 'Sas' is a 'taddhit’ suffix, 'Sas' is



a 'taddhita’ suffix because it falls in the domain of 'taddhita’, defined earlier. And so now, 1.3.8
does not apply here and '§' does not become 'it'. 'Bahusah’ is how the word is used in the object
language language as well. So, 'lasakvataddhite' does not apply here.

Let us take the other example where a consonant from 'ka’ class is termed as 'it' and the example
is this. Verbal root 'budh’ and a suffix 'ka' is added to it. So, 'budh’ plus 'ka’, so 'k’ now occurs at
the initial position of this suffix. So, 'lasakvataddhite' will apply here and 'k' will get 'itsarhjna’ and
then it will be deleted and you will get 'a’. And so, you join them together and you get the word
‘budha’ which means one who knows. Now, 'ka' is not a ‘taddhita’ suffix because it is stated in 3 1.
So, it is not a 'taddhita’ suffix and therefore, it gets 'itsarhjiia' and then the entire suffix is called
'kit' and it triggers the operation 1.1.5 which is the negation of 'u’ becoming ‘o’ and therefore, you

get the form 'budha'.

Similarly, look at the example 'karna’ plus 'kan' stated by 4.3.65. So, 'n' here gets the term 'it' by
1.3.3. What about 'ka"? Answer is no, because 'kan' is a ‘taddhita’ suffix and therefore, 1.3.8 does
not apply and we will get the word 'karnka' and the feminine form 'karnika', an ornament of ear.
So, here once again we looked at an example in which 'k' occurring at the initial position is getting
the term 'it" if it is not part of the ‘taddhita’ suffix, but it does not get the term 'it', if it is part of the
‘taddhita’ suffix.

So now, if we summarize what we have seen so far we can say that 1.3.7 and 1.3.8 assign the term
'it' to consonant classes at the beginning of the suffix and 1.3.8 excludes a big set of suffixes called
'‘taddhita’ from this application, that is very much clear from these two siitras.

Now, let us look at the ever important siitra 1.3.9 'tasya lopah'. So far we have studied the 'itsarnjfia'
from 1.3.2 to 1.3.8; 1.3.2 gives the 'itsarhjiia’ to a vowel from 1.3.3 to 1.3.8. These siitras give
'itsarhjfia’ to consonants, the first two at the final position and the remaining at the initial position
of the element. Now, we have been saying that once a sound gets the ‘itsarhjna, it gets deleted by

1.3.9.

Let us look at what is the meaning of 1.3.9, words continued only one word continues namely 'it'
from 1.3.2 and it is it gets converted into the 6th case over here and then we get the meaning 'tasya
itah lopah syat'. The marker 'it' is substituted by deletion, that is the marker 'it' is deleted this is a
generic application, ok! And one which is performed right in the initial stages of derivation or
immediately after introduction of the verbal item in the derivation. So, it does not require any
condition or any environment to apply. So, it is called ‘anaimittika'. So, this deletion is done right
at the beginning, rightly so.



So, 'it' sound gets deleted and leaves its own mark and then triggers various kinds of grammatical
operations, we have also observed that an element may contain more than one 'its' sounds attached
to it. For example, 'tac' triggering more than one grammatical operations. So, in 'tac', 't' trigger the
operation of feminine suffix, 'c’ would trigger the operation of accent and so on.

To summarize this discussion, we can say that the term 'it' is very fundamental in understanding
the meta language of Paninian grammar. This term is cleverly used to trigger various grammatical
operations in the Paninian grammar. Deletion is also considered as a substitute in Paninian
grammar, this is also called zero substitute and we shall study this further when we look at technical
terms in the Paninian grammar. More discussion when we look at more technical terms in Pananian
grammar.

Now, before we end, let us follow our practice. Let us read the 'mangalacarana’ from one of the
celebrated texts, here it is Prakriyaprakasa, a commentary on the text called Prakriyakaumudt and
the 'mangalacarana’ is like this. "Alikulamanditagandam pratythavytihatimiramartandam,
sindtrarunasundam devarh Vvetandatundamavalambe” and | repeat "Alikulamanditagandam
pratytiihavytihatimiramartandam, sindiirarunasundam devar vetandatundamavalambe™. And lastly
the recitation of the 5 siitras from the 3rd chapter, 1st pada, now initial 5 sttras are the following,
‘pratyayah’, 'parasca’, 'adyudattasca’, 'anudattau suppitau’, 'guptijkidbhyah san'. | repeat 'pratyayah’,
'parasca’, 'adyudattasca’, 'anudattau suppitau', 'guptijkidbhyah san'.

Thank you for your attention.



